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Suresh started his journey from P to Q by his bike at the speed of Jmm anv
n, the same distance he travelled on his foof af the speed of 10 km/h from Q to R. Then

edfrom R to P via Q at the speed of 24 km/h. The
A dverdge speed of the whole .©
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he distance of the School and house of Suresh is 80 ki e was late by
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vards S at an interval of 2 hours. Whehas A leaves R fo
are 40 km/h and 60 km/h . B overtakes A

0 S. What is the ratio of time taken by A and B to meet at M? @
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17 Pranav walked at 5 km/h for certain part of the journey and then he took an auto for
B remaining part of the journey travelling at 25 km/h. If he took 10 hours for the entire
_ journey, what part of journey did he travelled by auto if the average speed of the entire
= Journey be 17 km/h? Wi a1 @ ua ffea T a5 (A, URY el @ iy | ged werdl
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'23.  Which of the following two ratios
£10:11 & | DI 997 27

(A) 17/18 ‘ ABY. 10/11 L,
| (C) Both are same <1 U% §HF & (D) 1Cann@1 deterfiiine.

24. In a palace, supplies are available for 35 days for
in the palace for vacation on day 1 itself. For how many | these supplies be
ufﬂcient for all these people? Td ¥2q1H WX &ad 75 Aideal
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~ 2017 India-ASEAN Youth Summit was held from 14&'{!&&1 August,
= 19 3TRA 2017 &1 FRG-RyaE a1 e Pel Ao far T

(A)  New Delhi ¢ =) (8) Mumbai % (C) Bhopal ®ii@ (D) Chennai 31§

27.  Under project ‘Navika Sagar Parikrama', which will commence in Septembe: 2(?17.J+
a team of women officers of the Indian Navy would circumnavigate the globe on ar indlan-

it sail boat named: Ridar 2017 & s, FIR®T SR URSAT > 3T, | B AR
R -"'ﬁl-- ﬁ ﬁ?‘&! :f} vielH 1'1 'Efﬁ qﬁﬁﬂl, %’—H CIEG] ﬁﬁ'ﬁ NEUIE * i
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28.

On August 18, 2017, which Asian country launched its first cyber court

in handling Internet-related cases? 18 3, 2017 @1, v oRERE <9 &
b ® Y 9, vEw e wries e e 87 N . =

A) Japan WM (B) China €5 (C) South Korea zf&yor #ifar (ﬁ)"!’hailand

29.  On August 18, 2017, Power Grid Corporation announced that it will get a 10z

$500 million from which international financial institution for its variow projects? 18 3
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(A) Asian Development Bank i3 Sasivie 3o (B)World Bank s & | R

(C) Intemational Monetary Fund sieRiss 721 %S (D) New Development Bank =1 Saciuiie
P -

30. Whoamow following cricketer has continued to be the world'’s top iq" e

day batsman in the latest ICC ODI rankings, released in Dubai on August 18
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(A) ViratKohli fRre ®igc (B) DavidWamer 3R a7}
(C) ABDeVi S Rt (D) Joe RBOEW wd wc

C "1,1‘: follewing has won a silver medal in tk
Para Atnletics Jumior Championships in Nottwil, Switzerlang
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(A)  Prince Ahuja % sTFT (B) . Jatif
(C) ash . ,“ ankar UHE Sa9r M Rink
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L A bill providing for setting up of the Indian Institute of Petroleum and Ener ln'n%" A
was introduced in the Lok Sabha on July 18, 2017, W{dé 18, 2017 @1
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8 A countryis said to be in a debt trap if §& &% @ F#U T Fe B TE
It has to abide by the conditionalities imposed by the International Monetary Fund
9 SRS g e g1 i sfeEt 31 A @ o A E

It has to borrow to make interest payments on outstanding loans a8 @@l XY Bl
I g5 @ U SuR & |

It has been refused loans or aid by creditors abroad == @@=ar 277 FH I
& fo w1 fbn o g @

The World Bank charges a very high rate of interest on outstanding & new '09"3
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With respecttoGST consider following statements GST & #a= 7 971 5 bl i'ri
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Is a comp _ "
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. Alcohol and pefroleum are exempted from GST =71 #1¥ I2Tet T GST AR
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. Which of the fauownng figures best depicts the a;eaationsmp among a‘ﬁninai;
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s7.  If + means divide, x means —, + means multiply and — means plus, then find the
value of 9+3-4-8x2 T + &7 31k e, x @7 1 -, + &1 e ToN AR — I aef e Bl
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{A) 8 (B) 9 ) 64 (D) 16

59.  David divides 78 by half and adds 11. What number he gets at the end? 3fas 78 &I
SR ¥ AN BB 11 SIS 8, O 3 H T 3P FEAT Y7 e P

(A) 50 @B 44% o AC) 167 © 8% ~1o= il
60. In a knockout football competition 23 teams participated. What was the least

number of matches they needed to play to decide the winner? @ “Hich—aTTIe. B
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61. At half past 5 in the evening, the sméller angle between the hour & mint ..I‘;)ﬁnds of
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a Angles of a given triangle are in the ratio of 2:3:4. What kind of
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_ The houses of A and B fa ce each other on a road going north
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INDER is coded in a code as CLANAED‘R. Fin the code for CIRCULAR
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(B) Chaste () Fluid ; (D) Manifest |
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